
1312  

 
 «  « » 1 

 

  

  1312  – ,   
,  

. 

   1312  – .431310.802 .  
   –  4112.16-3. 

  : UCC1  UCC2  4,5  38,5 ; UCC3  16  4,5 .  
: U 1 + |U 3|  44 ; U 2 + |U 3|  44 . 

   

, 
,  
 

 
 

 

 -
 

, ºC 

-
-
   

 
, , 

UCC1 = UCC2 = 38,5 ; UCC3 = –4,5  
 UCC1 = UCC2 = 28 ; UCC3 = –16  

UOL
 

|UCC3| – 1,5 – 

–60 ± 3;   
25 ± 10; 
85 ± 3    

 

 
, , 

UCC1 = UCC2 = 4,5 ; UCC3 = –4,5  
UCC1 = UCC2 = 38,5 ; UCC3 = –4,5  

UOH
 

UCC1 (UCC2) – 2 – 

–60 ± 3;   
25 ± 10; 
85 ± 3    

 

, , 
UCC1 = UCC2 = 38,5 ; UCC3 = –5,5  

IIL
 

– |–10| 

–60 ± 3;   
25 ± 10; 
85 ± 3    

 

, , 
UCC1 = UCC2 = 38,5 ; UCC3 = –5,5  

IIH
 

– 5 

–60 ± 3;   
25 ± 10; 
85 ± 3    

 

, , 
UCC1 = UCC2 = 38,5 ; UCC3 = –5,5 , 

 UCC1 = UCC2 = 28 ; UCC3 = –16  

ICC
 

– 10 

–60 ± 3;   
25 ± 10; 
85 ± 3    

1 

 
 ( ), , 

UCC1 = UCC2 = 38,5 ; UCC3 = –5,5   

tPHL (tPLH) 

– 500 (500) 

–60 ± 3;   
25 ± 10; 
85 ± 3    

2 

 
1  

. 
2  tPHL  

 tPLH  0,5 UI  0,5 UO  
 ( )  20  UIL = 0 ; UIH = 5 . 

    

 ( ) 
In1 (2) In2 (3) In3 (5) In4 (6) In5 (7) Out1 (15) Out2 (14) Out3 (12) Out4 (11) Out5 (10) 

0 0 0 0 0 1 1 1 1 1 
1 1 1 1 1 0 0 0 0 0 
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,  

 
 

 

 
-
-
 

 
  

   
 

,  
U 1, U 2 

4,5 38,5 3,5 40,0 
1 

 
,  

U 3 
–16,0 –4,5 –18,0 0 

1 

 
,  

UIL 
0 0,4 –0,3 – 

 

 
,  

UIH 
2,4 5,0 – 10,0 

 

 
,  

tot max 
– 550 – – 

2 

 
,  

CL max 
– 3,0 – – 

2 

,  IO – 40,0 – – 3 

   
1   U 1 + |U 3|  44   

 U 2 + |U 3|  44 ,  U 1 + |U 3|  48   
 U 2 + |U 3|  48 . 

2   
 Rt  tamb 

(Rt · Ptot max) + tamb  150 ºC. 
3  

 10 . 

   

: 
,   . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .   1   5  000  

, 2 (g)  . . . . . . . . . . . . . . . . . . . . . . . . . . .  400  (40)  
: 
,   . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .   50   10  000  

 (  2·10–5 ),   . . . . . . . . . .  170  
: 

, 2 (g) . . . . . . . . . . . . . . . 15 000 (1 500) 
,  . . . . . . . . . . . . . . . .  0,1  2,0 

: 
, 2 (g)  . . . . . . . . . . . . . . .  1  500  (150)  

,   . . . . . . . . . . . . . . . .   1   5  
: 

, 2 (g)  . . . . . . . . . . . . . . . . . . . .  5  000  (500)  
,  ( ) . . . . . . . . . . . 1,3·10–4 (10–6) 
,  ( ) . . . . . . . . . . 294 (2 205) 

: 
,  . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .  85  

,  . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .  150  
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: 
,  . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .   60  

,  . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .   60  
:  

,  . . . . . . . . . . . . . .   60  
,  . . . . . . . . . . . . .  150  

 35 ,  %  . . . . . . . . . . . . . . .  98   
 ( , ),  

) ,  
.  

  :  
7. 1, 7. 6, 7. 7 –  1 ; 
7. 1, 7. 4 –  5 ; 
7. 1, 7. 4 –  1 . 

 
 7. 6 . 

 2 . 
 7. 8  7. 6  0,002×1 . 

   

, ,  
 ( )  (65 + 5) º , – 100 000 .  

 – 120 000 . 
: UCC1 = UCC2 = 30   5 %, UCC3 = – 5   5 %. 

,  
. 

, ,  
,   = 99 %:  

- 25  –  
;  

,  
; 

- 16,5  – ,  
,  ( )  

; 
- 12,5  – ;  

,  (  
) .  

 – 25 ,  –  
. 

 – 100 000 , ,  
. 

   
 

 ( )  5  
 – ;  

. 
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 ( )  
 (  

)  50 ,  
 UCC1  

 UCC3;  
 UCC2 . 

 
 UCC1,  –  

 UCC3;   
 UCC2 . 

 
. 
 

. 
 ( )  

 85 º ,  
 

tamb  150 – Rt · Ptot max, 
 tamb – , ºC; 

       Rt –  ( ), C/ ; 
       Ptot max – , . 

    
  

GB1

GB2

C1

C2

G3

In4

4

8

7

GND

In5

CC3U

3

6

5

2

9

In3

In2

CC2

In1

U

13
CC1U

15
Out1

Out2

Out3

Out4

Out5

11

10

12

14

D

GB3
C3

G1

G2

G4

G5

 

GB1–GB3 –  U 1, U 2, U 3;  
G1–G5 – ;  

1 = 2 = C3 –  0,22  2,2 . 

 
: , , ,  UCC1 (13),  

 –  UCC2 (9).  – ,  
 UCC3 (8).  UOH , ,  

 UCC1 (13),  
 –  UCC2 (9).  UOL 

 UCC3 (8). 
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100 . 
 (  

) .  
.  (Out5) 

,   
 «13» (UCC1)  «9» (UCC2)  ( .  

) 
 (  10 )  

.  ±5  
.  

.  
 R1  R2 ,  

.  
 300  

500 ,  «13» (UCC1)  «9» (UCC2) . 
 R  

 UOL,   U , 
,  

U  UCC1 (UCC2) – R  ICC – 2, 
 ICC – . 

 
 UCC1 (UCC2). 

 R 
,  

 
 150 ° .  

 Rt   25 C/ . 
 

 
 

 
 

In4

4

8

7

GND

In5

CC3U

3

6

5

2

9

In3

In2

CC2

In1

U

13
CC1U

15
Out1

Out2

Out3

Out4

Out5

11

10

12

14

DGB1
C1

GB1
C1

GB2
C2

G1

G2

 

In4

4

8

7

GND

In5

CC3U

3

6

5

2

9

In3

In2

CC2

In1

U

13
CC1U

15
Out1

Out2

Out3

Out4

Out5

11

10

12

14

DGB1
C1

GB1
C1

GB2
C2

G1

G2

 
GB1, GB2 –  U 1 (U 2), U 3; 

G1, G2 – ; 
1 = C2 = 1,0 . 

GB1–GB3 –  U 1, U 2, 
U 3;  G1–G5 – ; 

R1 –  390  620 ;  R2 –  1,5  2,4 ; 
1 = C3 –  0,22  1,00 ; 
C2 –  0,10  0,33 . 
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  -

 
 
  -

 
1  – 9  Out5 

2  In1 10  Out4 

3  In2 11  Out3 

4  GND 12  
 

, , 
 

 

UCC1 

5  In3 13  Out2 

6  In4 14  Out1 

7  In5 15  NC 

8  
 

UCC3 16  Out5 

   

 

 
 


